UNI CS 3470, Section 1 
Networking

Homework 6 (due 11/4 in class)

________________________________________________________________________

	1) You are the network administrator for a small-sized startup company.  Your first job is to set up 4 equal subnets for your new network id: 227.182.160.0/19 .
(a) What is the network IP in binary?

(b) Which bits do you use to create the subnet?

(c) What are the subnet IDs for each subnet?

(d) What is the subnet mask?

(e) What IP ranges belongs to the smallest subnet ID?

2) Consider the following network topology:


[image: image1.png]



Calculate the set N and the distances to all nodes not in N after 4 iterations of Dijkstra's algorithm from the vantage point of router P.
In the event of a tie, use alphabetical priority.  That is to say, in the event of a tie, a node that occurs earlier in the alphabet is given priority.

Please fill in the table below.

Answer:

	N
C

H

K

L

P

U

W

 

 

 

 

 

 

 

 

 

 




3) Please fill in the following distance-vector tables for the network shown below.  (Hint: Look at the distance vector algorithm presentation slides.) 
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